Day 4

HW/Notes PARALLEL AND PERPENDICULAR LINES

1
PARALLEL LINES HAVE THE  SPA ™ME SLOPES.

PERPENDICULAR LINES HAVE OPPOS\TE REC (PeapC SLOPELS  Their PRODUCT is |

USE THE GIVEN INFO TO WRITE A LINEAR EQUATION IN THE INDICATED FORM:

1) Passes through (4, -1) and parallel to y = -3x +1
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\ yal= -B(va\D

2) Passes through (O, -1) and parallel to 3x — 6y =12
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3) Passes through (1, 8) and perpendicular to y = %x -1
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4) Passes through the point (2, 3) and perpendicular to y = -4
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5) Passes through (2, 5) and perpendicular to the line through the points (-2, -1) and (-3, 6)
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6) Write an equation of a line passing through (-5, —1) and perpendicular toy = 2x — 8

4 (s,-1)

7) Write an equation of a line passing through (4, —6) and perpendicular to 4x — 5y =12

Find 3(0'9{: \ty-S\j: 2
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ST / \\/ b= '_g(x'%)
m= T2 (4,-6)

8) Passes through the point (-2, 5) and perpendicular to the line through (-5, 7) and (3, 3)
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